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wRtenferat & ferd fFdr - Instructions for the candidates :

1. UHigrET OMR 39T 9% YT A9 1. Candidate must enter his / her
T gfd@T FHIE (10 dHHT &) Question Booklet Serial No.

v ford i (10 Digits) in the OMR Answer
Sheet.
2. ’???-.’.‘W?ﬁ THNT HUA ' ¥iegl H O 81 2. Candidates are required to give their
It §1 ' answers tn thewr own words as far
as practicable.
3. T aIR E":’T.E’F? T E’ZTEF 3% TWS&'— 3. Figures in the right hand margin,
e wtd &1 indicate full marks.
4. ¥ F egEgEE ggd & fw o4

' . 15 minutes of extra time have been
‘R?Hﬂéaﬂg@'} 15 fire &7 sfafie |qag allotted for the candidates to read
fear mar 2

the questions carefuily.
5 qAF H¥ Hﬁ'\?fa”_f 7 @vgl § o 5. This question booklet is divided into
G- 07 wug-a 1

A2 two sections — Section-A and
Section-B.
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6.

Fvg-3 § 70 FGAE T¥T &, fH 6

7 fegt 35 wvt & Faw
sfmard &1 35 v | JfiE &7 IW
34 @ WeH 35 & §l goaied 8T
geiE & v 1 gF Fifa &1 e
3T o & [0 Ui U TT OMR
I-99F H Ru o wal fawey &l
Hd /) Fd T 9T G TR F
fodt Wt wwmrw & wWzeAv / avd
geref / &g / AGT AE HT OMR
I wFE H yEhn & 5 B
=T GHNT TR 3T g

gvs - H 2009 IWIT AV & |
vEF & oo 2 oF Fwika 8, FAd
& fEgt 10 "yt @& Faw W
Ffrard # 1 739 sfafcr ga @vs 7
6 2 It vy 7d mad & v &
e 5 o Frifta & fd @ f=et
39y &7 IAY 37 A &

fedt g@Rw & goaiHE JYFIU F 8.

QAT quiaar g 8

[117 ]

In Section-A, there are
70 objective type questions, oul of
which any 35 questions are to be
answered. [f more than 35 questions
are answered, then only first 35 will
be evaluated. Each question carries
1 mark. For answering these
darken the circle with bltue / black
ball pen against the correct option
on OMR Answer Sheet provided to
you. Do not use whitener / liguid
/ blade / nail etc. on OMR Answer
Sheet, otherwise the result will
be treated invalid.

In Section - B, there are 20 short
answer type questions, each
carrying 2 marks, out of which any
10 questions are to be answered.
Apart from these, there are 6 long
answer type questions, each
carrying § marks, out of which any
3 questions are to be answered.

Use of any electronic appliances is
strictly prohubited.
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(117 ]

®|Us - A/ SECTION-A

TS W / Objective Type Questions

oy wer 19 roasdrmmdfmwﬁmﬁvwiﬁ Rt & v wat &1
aﬁmg#waﬁﬁmﬁou;ﬁzwﬁ@mﬁtﬁﬁﬁsswﬁwm%f
35x1=35

Question Nos. 1 to 70 have four options, out of which only one is correct. You have to

mark your selected option, on the OMR-Sheet. Answer any 35 questions. 35x1=35

1. mﬁﬁmmﬁmmﬁﬁaﬁﬁﬁm%

(A) P,=E, s cos ¢ (B) P, = I5c08 [
[C) P,=E, . I mssin¢ (D) P,=E_ I scosd

The expression for rcal average power in an alternating current circuit is

(A) P, =E 50089 (B) Pow=Irms cos ¢
) Pov = Erms Irms sind (D) P.,=E e ImsCos ¢

2. ¥ TUTE & SRR A1 §

R

w 2 ® Z
) R.Z (D) W.L
Power factor is equal to

R
@ (B) %
(C) R.Z (D) W L

B |- |3003-s9/60)
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[117]

(1 R) TRaw H iR A6 R

. -1{ oL -1 Eﬂ‘{;]
{A) sin (?] [E?) cos [ R
© tan”! [E‘-‘Ri] D)  tan”' (ﬁ-)

Phase difference in ( L-R) circyit is

(A)  sin! ("’—;J | B) cos! ["’Tf‘)
© tan(4L) o wal(X)
Zigei o aRoma SR al ¢

n G o -

© T LI

Ve Ve
(A) = B

vV, Vs

1 1

(Cj — (D)

TI::‘VP - IS.IP
RC ¥ fada @M @
(% MYL T B) MOLOT?
¢, MOLT - @  MOL°T

A

B .- 3003-:59!604;] upe 4 of 32




[ 117 ]
IMmensional tormula of R.C s
iy mYPr? _ By MPL9T
)  MYO7Y m MOlr
6. YA UEET F S.J, OEG Bl ©
(" Am™ B) Am™
{C) Am (D) Fm
S.I. unit of pole strength is
A} Am=! (B Am™2
(€} Am (D) Fm
7. UHEAH 990 83 § 9EE & e ° fFe s we g
(A) W=MB(1-sin8) (B) W=MBsing
(C) W=MB(l-c0s8) (D) W =A/Bcosh
Work done in the de;h:-_.ction of a magnet in a uniform magnetc field 1s
(A} W =MB(l-sin6) (B] W=ABsin6
iC) W=.:U’B(1 -cos€) (D) W=»MBcos?
8. MFeEFiTmdzmdMmE AT TR S ST e
Ay m=E ™ m?=E
‘T  me?=E T m:—"zz-
[31-[2003mwen] Paez § 22




10.

11.

[117]

Which of the following relations is correct for mass and energy ?
(A) m=E B) m’=E

2

(C) mec* =E (D)

3
I

ot

v W& (8),,F famurt dem el &

(A)  (1000), ' (B) (1001)

(%]

(€ (111), . @ (110),

Binary number of decimal number (8),, is

(A} (1000), (B) (1001},
©  (111), (D) (110},
NAND 712 &I ohd giar &

w = (B)
(C) :{>-°— ()

Symbol of NAND gate is
a = - (B)
© > (D)

HE-AY FA T,,, vA 4 e H g e

SAATA

2
(A)  T,,,=0-693/ - B Ty2=57603

i 2
(C) T,,,=0:6937 _ D) T,,,=0-6932

——

[__E_i_‘ ~ | 3003-(59/60) Pape & of 'U




| 117 ]
The relation between hali-life time 7‘”2 and decay constant 1s
: S
(A) T ,,,=0-693/2 B T1/2"57693
(€) T,,,=0-693% D) T ,,,=0 69347
12. fafefEa § ®F o -&0 o @l @ 2
T ) Fr e el
(€) wiferam Ay (D) FRSNA ANEH
Which of the following is correct for o - particle ?
(A) electron - (B) electromagnetic radiation
(C) helium nucleus (D) hydrogen nucleus
13, Fafofaa o @b @few @ 2

(A) 333U4§34U+ SHe B)  53%U— 33Th+ 3He

238 239 4
(C) 53 U=>237Th+ He D) 53°U—>232Th+ 3He
Which of the following equations is correct ?

238 234
(A) 52U U+ IHe B)  23°U—23%Th+ He

238 239 4
(© 53 U5y Th+ He (D) §°U—33°Th+ 3

B l— 3003159;&1' Page 7 of 32




| 117 ]

HetEd 9 ® S fan & qfy ol s 98 s E )

14.
-~ A -
= Mg I(dl xr = Mo I{d!
(A) dB:f——-m;—-l B) dB=-2 ‘ﬁ'
. T re qan y2
-+ A A
. = Wy [{dlxr) > Uy I
¢) dp=-0 12771 =0 L7
(© = D) 4B =32
Which of the following is the correct vector form of the cquation of Biot-Savart
law ?
N c?f .&} -
_f_(ll( X r “’__l_lp_fidl)
(A) 4B = — 7 Bl 4B = =3
a} A N A
ip = Ho Hdlxr) _ Mo Ir
©  dB=gk = D) 4B =
15. THE o5 W Togd-es @t diean g g
(A} E=Fg B) E=F/q
(C) E:%Fq (D) E=gq/F
Intensity of electric field at a point is
(A) E=Fgqg (Bl E=F/gq
() E=%Fq D) E=gq/F
16, HEY F YS-97 1 €
_Q _Q
A o= B o=
c o=2 D  o=0-A
| B |- [ 3003-(s9/60; Page 8 of 32




17.

18.

1117 )
Surfacc density of charge is
(A} n=% B) a= %i
{C} o= % (D) o=0Q-A
Tt "uifcr Y yiicar g &
( rR ) rk
(A) C'MEOU—R, (B) C~4neo(r+R]
2 W 2
_ r'r _ rR
{'C) C*““Eo\,_R‘J (D) C‘4nEO{F_R]
Capacity of spherical condenser is
rR rR
(A) C—4neo(r_R) (B) C—4ne0(r+R]
€ C=ane. | TR D) C=4 TR
- Olr-R } IR g R
1 p, % SRR B §
i
@ =2 B L
Hq e
(/NI o
Hy By
1 uy is equal to
.k
T\ J— m A
Hy Ko
: - :
{C) Ha 'l (D) —
. BMg
3003-(s9/60)
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20.

21.

[117 ]
U1 W T4 aren wldiaw gfan &

(A AT T By aTETas w8 e

(C) Hedt Td Hhar (D) FTAfE & e

Image formed on retina is
(A) real and erect (B) real and inverted

(C) virtual and erect (D)  virtual and inverted

AN gXeH &1 EE 49T €l &

Jo fo
I ® -7
© - j—} (D) %

The magnification power of Astronomical Telescope is

/, Jo

(A) f_e (B) 7.
~ fl‘.’ ..£¢.r...
(C) - 7.: (D) 7

(qetfateaa 5 @ SpEm & FEO H ST EA R 2

(A) ) fEE
(C) ?Jﬂi-ﬁjﬁ:{qﬂ] (D) 37ani:‘T

B |- 3003-[59[60}J Page 10 of 32




22.

23.

24,

Which of the lollowing is the cause of formation of rainbow ?

(A) Scattering (B) Diffraction
<y Dispersion | (D) Relraction
Frfothaa & @ forega- g @01 48 ¢ 2

(A) S T (B)  X-faRTOi

(¢ @A (D)  SrEeE faol

Which of the following is not electromagnetic wave ?

(A) Light waves (B) X-rays

{C) Sound wavces (D) Infrared rays
qReyT Hrery w1 F foru #ifas Fior g &

(A}  48.75 (B) 41-14°

)  37.31° (D) 24.41

Critical angle for transparent medium diamond is

(A)  48.75 | B) 41-14°
(). 37-30 D) 24-41
EE F T AR & b

W : ® &

© R | o) '. L

(117 |

B |- 13003-s9/80)|
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25

26,

[ .-—mf'[;;Uu:i-;swggyj i

Encrgy of photon is equal to

A) h . ®

h
¥
. h
© Jhv (D) J;

YEarsh 85 Bl AT (4 ) % ST 2T €

B M
A -0 B -0
(A) ™ (B) B,
(C) Byhg : (D) By

Intensity of a magnetising field ( H) is equal to

3 ' H
- B -

Ho 0
(C) HIJHU (D) Bgl-’-g

trfetfige & w0 Iard JREEI & fET 98t ¢ 2

(A, V<V, B V,>V,

{C) V. =V () V<< Vp

L It
Which of the following is correct for step-up transformer ?

A V<V, B) V>V,

©  v,=v, O) V<<V,

fare wrar o feqo uforn afeama eldr
(Al 2 (B A

. RE
() . (1) i,

PSR —

F———— ST

[117]

e )
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28.

29.

Inductive reactance for direct current is

(A)  zero (B)

(C) ol (Dy

A NA (B)

© L (D)
1A

infinity

ol

Eleciromagnetic moment of current carrying coil is

(A) NIA (B)
© L (D)
1A

(A)  NC (B

{C) N.CT _ (D)

The S.1, unit of electric mtensity is

A)  NC B

) N (D)

Wy e by = e

[ 117}

. ﬁ_] - I 3003-(s9/60)
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n (117

30 et dunsm s FmER
Aj  J=1-A =L
B J=

. A
€ g2 O J=I’A
Which of the following is correct for current density ?

(A} J=[-A B =_{'__
: B J i
" A
©y J=% D) J=IA

31 famha&aaﬁnﬁwﬂm%faqﬂauﬁt?

v
i z-—d— ——g--
) wp=V,E (D) p=E%.v,

Wwhich of the following is correct for mobility ?

(A wl’g (B) p-%
€} p=V, E D) u=Ey,
32 fAfefed 9 B a8 R 7
(Jﬁq | watt 1 Js {B) ) watt = | Ve |
{C) | watt = 18V () | watt = | Fn !

PR— B e e R o o

Pape 1 of 32
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33.

34,

35.

{117 ]
Which of the following is correct ?
(Ay  1watt=1Js"] (B) 1watt=1Vs™
(€} 1watt=1sVv" (D} 1watt=1 Fs™!

el 1 % U FrET AT F FAL HIS B &

(A) 3 (B) 4

© 5 D 6

Colour code of carbon resistance for blue colour is

(A) 3 (B) 4 |

€y 3 (D) 6
ufsag-ge1 v g &

(A) 9T & (B] &Y &
(€) e & D) favara =
Ampere-hour is the unit of

(A) power ' (B) charge

[l;} cnergy (D) potential difference

P d sfilca am F for S adr & 2

- N . ~ - -
(A) Broaglls v Vx B (B} F=q(E+V )

N S T
() Fe(EVeB) D)  FaqE+BxV )

R

o ke e e 1 8 e

l I3 {- 30037159f5§)
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37.

[ 117 ]
Which of the following is correct for Lorentz force ?

- - > - - <> -
(A} F=q(E+VxB) (B) F=q(E+V)

-+ - - - - -+ - -+
(C) F=(E+VxB) (D) F=q(E+BxV)
4 TN Qu A W Y Beg gl Bt €
A) 025m (B) 025cm
€) 035m O) 035cm

The focal length of a lens of capacity 4 dioptre is
(A) 025 m (B) 025 cm

(C) 0-35m (D} O035cm

frfafma A @ 3oi-fagigo sar & fau gdt & 2

~H Hy 1
(A} w:-f-!——l—'— (B) w--;f—:_—;*
’ “y-‘ y
r py -1 My —1
€ w=—Y D) wa=t
H, — K1, M, —H,

Which of the following is correct for dispersive power ?

TREgT
(A w =ttt @)  we—t—
My Hy
ny -1 -
(C) W owa—Eem— D) ot

}"; - ‘tr ll' = ;lﬂ

g My, g o e



[117)
W@ T F G AW (=l ) A d www g, @R (w=d) A

£, @

A f,=f B  f,=2/,

€ J,=34 Dy f,=4f

3 e : 4\ .

If the focal length of a glass lens (u--i) in air is f_ and in water [ngj is
f,, then

@A f,=f - B fu=2/,

© f,=3f, D) £, =4f,

Frafefea d @ day vt s & dwa (1) 3R S ® TR (A ) F
fou @@l & 2

1 1
{;'\) I 5 B) I« 2
© Jx-t O) I<-L1

A A

Which of the following relutions is correct for intensity of scattered light ( 7) and
wavelength of light ( 2} ?

A) T -} B) Je-L
h ?b”
() I --'1-- D) e L
A 24

ST I;lj__] T -w.wﬁm

Page 17 of 32




40.

41.

42.

s & B T R ond & e wd & 2

(A)  e=1.602 x 10710C (B) e=1-602x10"'7C
(C) e=1602x 10718¢ (D) e=1.602x10"'°C
Which of the following is correct for charge on an electron ?

(A)  e=1-602x10716C _ (B) e=1.602x10717C
(C) e=1-602x10"!8C (D) e=1-602x10719C
frfafes o aﬁh Jfery &1 sH-FeF g ¥ 2

(A)  ¢,=2-55 eV (B)  ¢,=2-65eV

(C)  ¢p=2-75 eV (D)  $,=2-85 eV

Which of the following is the work-function of sodium ?

(A)  ¢,=2-55 eV (B)  4,=2-65 eV
©)  9p=2-75 eV (D) ¢,=2-85eV
s o gt A s B

A  A+Z | B A-z

©) Z+-‘% (D) zl

Number of neutrons in nucleus is

(A] A+Z B A-z
(C) zw—’,} D) z

[117]

L B |- [3003-ss/60) _ Page 18 of 32



43.

44,

45.

(117 )
ettt o1 e % fom w1 @ E 2

() (Blasig = (Blfgzsiny (Bl (Blymirm = 2(B)f:qenivy
(C)  (Blfguaity = 2(B)apiy (D) (B)amim = 3(Bfyzir

Which of the following is correct for short magnet ?

(A) (Blaxiar = (B) equatorial (B) Blaxiat = E(B)f-"q“ﬂm’i“f

(€} [B}equamnﬂf = 2(5B] axial (D) (B]w-'mf = 3(B) equaltoral

TeRdAT 'iwq:lq ﬁiﬁﬁ?ﬂ?ﬁﬂﬁﬂimﬂmmﬁ

. ! : I
(A} T=2n ‘-— (B) T=2n
By, MB,,

(C) T=2n

—A D) T=2rn/MB,

Expression for the time-pericd of a magnet oscillating in a uniform magnetic
field is

1! I
- ’ - B T=
(A} T=2n B,, (B) 2n B

H

(C) T=2n f’-{fﬂ (D) T=2nJMB,_

Frefefas & S Ty gE & =0hg 83 (B,,) IR =S GE & WG ()
& foe wel & 2

(A) n®« B, B) n«B,

(C) n “:.BHE - (D} n? i:;_gl_.

B |- |3003-55/60)
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406

47.

[117

Which of the following rclations is correct for carth's magnetic field (By) and

frequency of magnetic needie { n ) 7

A} n’x B, (B)

€ nxBg’ (D)

Feafafes 4 o ¥ fan & So ad 2 0

(Al B=B,, tang (B)
{C) B= ‘fBH tan@ (D)

rlutBH

?12

1
[
By,

)
B= BH tanf

B=8B,, 1an? ¢

Which of the following is correct for tangent iaw ?

{A) B=8, tan® (B)
(€} B=/B,, tan6 (D)
Fnifes gEETieTr S g

W e ® ®)
) py=pop, P (D}

Relative permeability is equal to
T
{A) n ®y

(€ Bo=ps, o)

B=B,,* tan¢

- 2

B [~-13003-se/¢00

Page 20 0of 32 - .':



49,

S0.

(117 ]
tpfertga o a9 ey w2

4 d y
(A B‘-B] B B Blen] -8

© B?=8}.B} D) B By

Which of the following relations 1s correct ?

Ay BY=B} « B} B) Blegl -82
- y B'.
(t B*=-B] -8}, ) B~ 5=
H

Ffefga d AR Fem A fp queg N e s o @ k-

(A)  c=Jpy€, (B) :

c:-
J“U Et‘;‘

€ c=JX2 (D} cz‘F—?-
€9 Po

Which of the following is correct for speed of electromagnetic wave 1n vacuum ?

1
&) e=Juye, (B) c=T==-==
Bo €5
(C} Cc= E-I-)- {D] = "E—T"
< - \j

gl % Qg R B F R ORI §

(A) 107! TEeW (B) .10“2_‘287-!1
) 107 FTEen D) 1075 T

{ B -.3003%!;“. -




52

_'. [
The valuc of B on the surface of the earth is

(A} 107} tesla

() 109 tesla

(B)

(D)

MRTETE el o7 foree-Jaena amget @ &

- -

» I
- -

(C) m=NIA

(B)

(D)

[117]

1072 tesla

1075 tesla

Elcctromagnetic moment of current carrying coil is

-
NA

A -
Ay m=—=

— —»
(C) m=NA

(B)

(D)

fefetaea 4 @A feemer Haaes & fog @t 2

C
NAB

~ [ A
) ('(NB]

(A)

(D)

( 35)

Which of the following is correct for galvanometer constant ?

(

A WAl

() t’( %)

(B)

(D)

C(3}
NA

~[ N
cf
(AB)

B

3003-(89;80

— e . b,

et A B
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n [ 117 ]
(A) ¥ (B) I
(C) 100 M (D) 50 3™
Resistance of ideal ammeter is
l(A} infinity (B) Zero
(C) 100 ohm (D} 50 ohm

54. <SG FIEY F S.1. HEF BT &

(A) FR B) dE
(€ |em (D)
S.I. unit of magnetic flux is

(A) weber (B) watt
(C) tesla (D) joule

55.  oiol %1 (990 fead e % g & qiom € 2
(A) W B) F&m

€ F (D)  EW

Lenz's law is the result of which principle of conservation ?

(A)  Current (B) Momentum

) Energy (D) Charge

e ———— - —

B |- 1{3003-(59/60)
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56, Ui wfeam & €
(A) X, =2nfL
€y X, =2nfL?
Inductive reactance is
(A) X, =2nfL

() X, =2nfL?

(B)

(D)

(B)

(D)

57. OTel GeEEYI Wi EEA & Al @

() M=1-

D
= 1 — —
(A) M= T

X S
© M=l-5

sg  duferd € el # vl ot

A)  P=P P

(B)

(D)

(B)

(D)

(B)

(12)

117 )

X, =21f%L
X, =2rf%1?
D
M=1+=
f
.
M']+D
D
M=1l+=
J
1+ L
M—-]+D
P=P x P,

PP (B, + B)

—
J——

3003-ise/s0)

.

I‘ngt-: 24 of 32



60,

61.

Power of two lenses in contact is

A P=P+P . B
' ;[J]
©  Peg (D)

U, =3/2 A, =473 7 vy wE
Ay 2 (3)

G 2 (D)

If p.g-_-3}2 and p,_=4/3 then “"py is

Ay 2 (B)
9

(C) 3 (D)

%y % fom wifas sor emr

(A)  20° (B)

(C) 48 (D)

Critical angle for glays is
Ay 20 {B)
<) 48" (D)

P A v dieh &

[ 117 ]

P=P] X PQ

P=P (P, + P)

(VT s N &

t-1 F» N ST

30°

42¢ (@)

30°

42° { nearly )

o ® woa ey o) Fres

Di] -~ | 3003-59/60)

Page 25 of 32



62.

63.

Nature of electromagnetic waves is
(A) transverse

(C)  both (A) and (B)

frarad & ORI W1 STaEEAS o ¥
] sin(A+3_ )
YV
Sin[A-n-;m]
TV

(B)

(D)

(B)

(D)

[117]
longitudinal

electrical

_ sinA/2
“sin(A+8,, )

sinA/2

The refractive index of material of the Prism is

sin(A+85,)

(A)  H=—gAT2
. [A-b—ﬁm]
s1n )
€ r=—gnaj2
TeRTeg gy & ae] @il §

(A)  STUEAATE x TF ) T

() Wﬂﬁt’*‘[‘a‘é

(B)

(D)

(B)

(D)

sinA/2
K sin(A+3, )

sinA/2

A+8
: m
sm{ 5 J

Y FH AR
qq H TR
AR
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64.

65.

ey,

e R
—

Optical path is equal 1o

(A) Refractive index x Length of path

Refractive index
Length of path

(B)

(C)  Length of path

D Length of path
(D) Refractive index
[ = Ld %‘f = & g:lﬁ-l- %;

(A) 8-85‘&]0'12‘ F/m

€) 8-85x10'2 F/m

The permittivity of Iree space is
(A] 8-85x107' F/m

(C) 8-85x10'% F/m

rea-Tgye &1 o1 WS B 8
(A} CN
) cC

S.1. unit of clectric dipole is

(A) CN

€ ¢

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

[117 ]

8.-85x107!'! F/m

8.85x10'! F/m

8-85x107'! F/m

8.85x10'! F/m

Cm

3|0

Cm

Elle

3003~(159/60)

Page 27 of 32



| 117 |
66. Fom Fam W WU T A Y
e 1 9, - - ] 4,9;
(A) F=4ne =T (B) F=41IE -
o 1,3 o P2
- —-» -
© F=g L 49 7 D) F=—t—. %2
. r
The vector form of Coulomb's law is
- - -
A F= 4:15 ' q-lqu r (B) F= 4nle E-J;?l
0 1 r f3 | 0 I r |3
- - - -
© Fegl— 2T O Feg - %2
;H:GID f2 4n EO l_,: Iz
67. fwal o # wifcan gt &
(A) C=gq-v B Cc=%
. q
© c=Liaqw o c=1
The capacity of any conductor is
(&) C=gq-v (B) C=';‘
© C=zq-w o =3
68. ITEATTA TTeTE P FeAl Qi &
A E=5CV B B=gev?
_ 1.2 D =C.
(C) E—-Q—C 74 (D) E=C.V
—rﬁ — | 3003-s9/60) Page 28 of 32




69.

70.

| 117 ]
Energy of a charged conductor is
I . . | ~yy2
{A) E-_—-‘Q"(.-V (B) E=§'CV
(€) E:%sz (D) E=C-V

afe qE Wit ¢, F n WU GO=R w9 = g T @l g9 wifven gt

(€}  C=nC (0}  C=n%c

If n capacitors of equal capacity C, are connected in parallel, the equivalent

capacity will be

c

= n C= -1
W c-g (B) .
©  C=nC D) C=n2c
19 & T wwrga wwed #en @

(A)  3x10% vm ™! (B) 4x10® vm™!

(€) 5x10% vm~! (D)  10% vm™!

Dielectric strength for air is

A 3x10° vm™! (B) 4x10% vm-!

() 5x10° vm™ "D 10® vm-!

LB |- 3003-iss780) |
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117

WUE - 9 / SECTION - B
WmmfﬂortAnswerTypeQuelﬂom
gy WS I#zawmirﬁﬁ?ioyﬁﬁmé‘:m*ﬁvsw

Freifea 2 : - ' 10 X2 =20
Question Nos. ] to 20 are Short Answer Type. Answer any 10 questions. Each question
carrtes 2 marks : 10 X 2 =20
1. foga geRm A En g ? | 2
What is electromagnetic wave ? |
2. e 99 # & ? - 2
What is Lorentz force ? |
3. favemrd & < SwEe @ o ' 2
Write down two uses of potentiometer.
4. SFiE & TR H & Gae % Re | 2
Explain parallel grouping of res.istors. -
L % IadATs § M9 ¥4 W § 2 ‘ 2
What do you mean by refractive index of medium ?
6. Ao @y afeam o | 2
Write the definition of wavefront.
& g @ - @ s wEd € 7 | 2
What do you mecan by end-on-position of a magnet ?
8. fergara ferva &\ qfoum ferd | 2

Write the definition of electric potential.

i
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10.

12.

13.

19.

T (o) fui & & ot & fod

Write two properties of alpha ( « ) rays.
framurdt aid vl & e

Explain binary number system.

YT & At fagiqor = woEd |

Explain dispersion of light.

Y & fqadT / a0 F qee ¥ 2
What do you mean by diffraction of light ?
uIRera wiqar ® o |

Explain capacitive reactance.

Tt 3 den T % T ST TRy F1 TR S Y

[117 ]

Write colour code of carbon resistance for orange and yellow colours.

TR S B GRE |

_ Explain magnetic moment.

T vl ) groams o |
Write the definition of angle of dip.
TR T F ORI O S A |

Write down the definition and S.I. unit of magnetic flux.

NOT 71 OR T ! Tegem WUt et et =iors

Write the truth table and Boolean expression of NOT and OR gate.

3T TWE T fagee W )

What is the principle of conservation of charge ?

SR T ¥ Y AR § )

What do you mean by apparent dip ?

B |~ [ 3003-is9/60
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< sy 9 / Long Answer Typs Questions

mmm#zeﬁa‘wﬁam#!ﬁrﬁsnﬁtmf!m*ﬁv
5 3w fulfea & . 3x5«1x
Question Nos. 2] to 26 are Long Answer

Type Questions. Answer any 3 questions. Each
question carries S marks -

\3)(5”]5
21,

RAARACE R R S

S
Find out the expression for equivalent foca) length of two lenses in contact.

22, mﬁ‘mmaﬁﬁ@émm@nﬁﬁﬁ| 5
Establish expression for the width of the Interference fringe

23 ZTHETR @ S FaT 3R S @ e 5
Explain construction, working and uses of a transformer.

24, w%m%mwﬁwm%mmmﬁth@-ﬁm
S-S ® o a7 we 5
Establish expression for heat produced in a conductor due to flow of current.
What do you mean by electric power angi electric energy ?

25 ﬁ?&%ﬂ%ﬂaﬁfﬁﬂﬁqmwwm%ﬁmwwﬁhﬁaﬁl 5
Establish expression for magnetic field at equatorial position of a magnet.

26. T % W # ford S S w9 5

Write down Gauss's theorem and prove it.

B |- [3003-9/s0)
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